3AJIALIM 3A JIOMARU

JundepennnjanHe jeTHAUYMHE KOje HUCY pellleHe TT0 U3BOIy HETO3HATE (PYyHKIIN]e

PCIHI/ITI/I jenHaYnHE:

(1) —4dyy' =0,

(2) y2y’2 —2zyy + 2y —2* =0,

(3) (2% —4)y? —2zyy —2* =0

4 2y?+2yy —x =0,

5) y*+ay?*—y=0,

6) y?*—2zy +y=0,

(N y=ay*+ @y —1)'=0.

Pemema;:

() y—o)Wy—r—)(yy+z+c)=0,

2 (z+ \/_)+y—c, y=ay =

(3) 20y—c( —4) —1, 2+ =4,

4 2*(@® = 3y*)* — 2cy(y” — 2) =0

(5) r=— 1 U’+(u_cl)2ay_ ;U +(u 1)2’ y:O,y:Qf—‘—l,
(6) x_2_u+u2;y:2xu_u25 y_oay_32

(7

r=clu—1)2y=au*+ (u—-1)7* y=zy=1.



